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1. Answer any ten questions : [10x2]

a) What do you mean by Gender Development Index?
b) Mention two shortcomings of Human Development Index.
¢) What do you mean by capital formation?

d) Distinguish between tied aid and untied aid.

e) What is economic planning?

f) What do you mean by big-push?

g) What is deficit financing?

h) What is capital intensive technique of production?
1) What is SDR?

J) What is FII?

k) What do you mean by terms of trade?

I) Mention three phases of demographic transition.
m)Give two arguments in favour of free trade.

n) Mention two important functions of IMF.

0) What do you mean by TRIPS.

2. Answer any three questions : [3x5]
a) Discuss briefly the major functions of the World Trade Organisation.
b) Distinguish between economic growth and economic development.
c) Explain briefly how population growth affects economic development.
d) Explain briefly the concept of ‘Vicious circle’ of poverty?
e) How far do you think that per capita income is a satisfactory index of economic development.

3. Answer any four questions : [4%10]
a) Examine the role of the World Bank in promoting economic development in the developing
countries.
b) What do you mean by Low Level Equilibrium Trap? How can a nation come out of this trap? [7+3]
c¢) Discuss the advantages and disadvantages of a developing country participating in international
trade. [5+3]

d) Discuss briefly the arguments in favour of economic planning. Mention in this context the reason
for plan failure.

e) Discuss alternative methods of financing economic development.

f) Distinguish between balanced growth and unbalanced growth theory. Which of the two theories
in more effective for less developed countries?

g) What do you mean by decentralization of economic planning? What are its advantages? [4+6]
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